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(c) Apportionment of overheads
(d) Byproducts

(e) Service costing
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B. COM. (GENERAL) (f) Purchase requisition
‘H‘ m ﬁﬂ m o ﬁ. mmo.&mOHHIw
erm-En xamination Note : Attempt any three questions. All questions
June, 2023 carry equal marks.
BCOC-138 : COST ACCOUNTING 4. From the following transactions, prepare a

Stores Ledger Account using FIFO method of

Time : 3 Hours Maximum Marks : 100 o
material issued.

Note : Attempt Section A and Section B. Section A Year 2022 - : 20

carries 40 marks and Section B carries . .
1 Feb. Opening Stock 500 units @ T 20

60 marks. each
4 Feb. Purchased 400 units @ X 21
Section—A each
1. What are the points that a Cost Accountant 6 Feb. Issued 600 units
should keep in mind before installing a 8 Feb. Purchased 800 units @ T 24
costing system in a manufacturing concern ? each
Explain. 10 9 Feb. Issued 500 units
2. Discuss any five methods of costing and 13 Feb.  Issued 300 units
state the industries to which they can be 24 Feb. Purchased moorcsgm@\amm
eac

applied. 10

. 26 Feb. Received back
3. Write short notes on any jfour of the

from
following : 5 each production
(a) Decentralised purchasing department 50 units
(b) Halsey Premium Plan 28 Feb. Issued 400 units

P.T.O.



[3] '~ BCOC-138

The following are the particulars

relating to a contract which has begun on

1-1-2021 : 15+5
Particulars 4
Contract price 5,00,000
Machinery 30,000
Materials 1,70,600
Wages 1,48,750
Direct expenses 6,330
Outstanding wages 5,380
Uncertified work 9,000
Overheads 8,240
Materials returned 1,600
Material on hand (31-12-2021) 3,700
Machinery on hand (31-12-2021) 22,000
Value of work certified 3,90,000
Cash received 3,561,000
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Prepare the Contract Account for the year
ending 2021 showing the amount of profit to be
credited to Profit and Loss Account. Also show
the amount of work-in-progress as it would

appear in the Balance Sheet.

Calculate Machine Hour Rate from the details

given below : 20
4

Purchase price of machine 4,00,000
Installation Expenses 1,00,000
Rent per quarter 15,000
Foreman’s Salary p. a. 30,000
General lighting for the total

area—p. m. 1,000
Insurance for the machine—p. a. 3,000
Repairs for the machine—p. a. 5,000
Estimated consumables—p. a. 4,000

P.T.O.

Power : 2 units per hour at ¥ 50 per 100 units.
Estimated life of the machine is 10 years and

the estimated value at the end of 10 years is
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¥ 1,00,000. It is expected to run 20000 hours in
its life time. The machine occupies 1/4 of the
total area. The foreman devotes 1/6 of his time
on this machine.

A product is obtained after it passes through
two distinct processes. From the following

information, prepare Process-I and Process-II
Accounts and Abnormal Loss Account : 20

Process-I : Input

Material-A 6,000 kgs @ 50 paise per kg
Material-B 4,000 kgs @3 1perkg
Mixing labour 430 hours @ % 2 per hour

Normal loss 5% of weight input, disposed off at
16 paise per kg.

Output 9200 kgs.

Process-1I1 : Input

Material-C 6,600 kgs @3 1.25 per kg
Material-D 4,200 kgs @3 0.75 per kg
Mixing labour 370 hours @ X 2 per hour

Flavouring
Essence T 300

P.T.O.

8.
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Normal waste 5% of weight input with no

disposal value.
Output 19000 kgs.

Overheads of ¥ 3,200 incurred by the two
processes to be absorbed on the basis of mixing

labour hours.

(a) A transport company is running a fleet of
six buses between two towns 75 km apart.
Seating capacity of each Dbus is
40 passengers. The following particulars

are available for the month of June :

4

Wages of drivers, conductors

and cleaners 3,600
Salaries of staff 1,500
Diesel and other oils 10,320
Repairs 1,200
Taxes and insurance 2,400
Depreciation 3,900
Interest on capital 3,000




(b)
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Actual passengers carried were 80 percent
of the seating capacity. All the buses ran
on all days of the month. Each bus made
one round trip per day. Find out the cost

per passenger per kilometer. 15

From the following data, calculate the

Economic Order Quantity (EOQ) : 5
Cost of ordering per order 18
Annual consumption 75000 units
Cost per unit % 1.50

Carrying cost estimated to be 20% of unit

cost.

P.T.O.
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P.T.O.
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5. 1-1-2021 i Y TU TF 3% ¥ Traf-aa <0

frefafed © - 15+5
Taawur z
3H A 5,00,000
EENEK 30,000
[t 1,70,600
EER 1,48,750
LR RCL] 6,330
T AL 5,380
YU 9,000
I 8,240
aqY A Wt 1,600
oY G (31-12-2021) 3,700
feeorq wefid (31-12-2021) 22,000
HITUTG R T Hed 3,90,000
Uhs < 3,51,000
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N SR T o S oA guid gw 2021
F A g q F fore I S daR Fifw)
df whie o Frfomeia & & o <wie

. A @ T SR 9w wver g w ToE

FITT 20
z

AR T I oI 4,00,000
Tofid W w1 @d 1,00,000
fertren ufaq fammEt 15,000
WA T I uid o 30,000
s &9 & fou ame

fostelt @< gfa #E 1,000
YA 1 St gfd o 3,000
AR 1 A @4 gfd a9 5,000
A U9 arlt gfa od 4,000

P.T.O.

TeR 2 gfe gfd =ver 3 50 wfd 100 3TN
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T 1 STAIG Sabia 10 9 21 10 9
% U SEHT STAITT HoF T 1,00,000 Bl TS
I gt ®  SATEIAA 20000 TS HHE
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Tft-A 6000 fRIL. @3 50 T wfa fewm
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¥4 yfa fepum. emseqe 9200 o,

P.T.O.
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Jfsha-11 : 3792

qH-C - 6600 ful. @3 1.25 9faq feemm
qEit-D 4200 TR @ 20.75 9fa fem
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3
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P.T.O.
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